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Nothing is difficult to the man who will try.
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By reading we enri.
the mind;

by conversation
we polish it.
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Believe yourself! Let’ s begin!
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1. How much will the woman pay for the toy cars?

A. 40 yuan B. 34 yuan C. 17 yuan
2. What can we learn from the conversation?

A. There’s a cat in the corner,

B. Kate is too old to move.

C. Kate doesn’t put things in order.
3. What does the woman think about the new DVD player?

A. She has no idea about it.

B. It’s no better than the old one.

C. It’s better than the old one.
4, Where did Paul plan to go on his way home?

A. To his office. B. To a bank. C. To a shop.

5. What does the man mean?
A. Alen won’t come,. B. Sally is often late. C. Sally will come at 8:00.
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6. Where does the conversation probably take place?

A. At the airport. B. At a petrol station. C. At home.
7. What does the woman prefer?

A. To leave for the airport right now.

B. To sece the end of the match first.

C. To help Pam to get her luggage.
WRER 7 BORDRE, 12555 8 % 10 4,

8. What does the woman think about the couple next door?

A. They’re helpful. B. They’re boring. C. They’re noisy.
9. What do the speakers do for the party?
A. Provide some drinks. B. Provide food and drinks. C. Prepare the food only.
,10. What can we learn from the conversation?
A. Some different food will be provided.
B. Fewer people will attend the party.
C. Salads are too difficult to prepare.
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Why is the man late?

A. He forgot to look at his watch.

B. The maths teacher kept him in her office.
C. The maths class lasted longer than it should.
What do we know about the students?

A. They don’t mind the man’s being late.
B. They don’t want to hurt the teacher.

C. They prefer to learn more maths.

What is the man most likely to do?

A. Talk to the maths teacher.

B. Remain silent about the problem.

C. Refuse to go to the teacher’s classes.

WS O Bebhkl, M5 14 £ 16 8.

14.

15,

16.

Where does the conversation take place?

A. In the library. B. In the classroom. C. In the dormitory.
What does the woman come here to do?

A. To ask advice about the trip to Beijing.

B. To bring him a message from Professor Grant.

C. To see what progress he’s made on his paper.

What topic will Eric write about following Jane’s advice?

A. Culture of Beijing. B. Trips around the world. C. Places to study in.

WS 10 Bk, 2550 17 % 20 @,

17,

18.

1.9,

20.

When do people usually start their Christmas shopping?

A. On December 1. B. On November 29. C. Before Thanksgiving.
Where did the idea of “Buy Nothing Day” start? _

A. In America. B. In Britain. C. In Canada.

Where did the high school students get food on “Buy Nothing Day” in Albuquerque?

A. From the neighboring homes.

B. From the restaurants nearby.

C. From the shops selling spaghetti.

How did people celebrate “Buy Nothing Day” in Manchester this year?
A. They made themselves up to tell people not to buy anything.

B. They organized a spaghetti dinner to give people information.

C. They got together to read stories,sang songs and painted pictures.
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Doing good

To help others,you don’t have to be an efficient expert in the art;the main thing is the inten-
tion. You may be crude and clumsy, wasteful and ineffective, but if you sincerely try to help, you
attempt produces nothing but benefit. The one you are trying to help knows your intention and is
strengthened and encouraged by the magic of your sharing. In nearly every case, your simple de-
sire to help,converted into action, produces the good sought. But perhaps the greatest good is the
good that yourself get out of the attempt.
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1. What does the man mean?

A. He didn’t get the book he wanted.

B. He didn’t go to the library.

C. The library closes on weekends.
2. How long have the speakers been waiting?

A. Thirty minutes. B. One hour. C. One and a half hours.
3. Where does the woman speaker probably work? i

A. At a restaurant. B. At a hotel. C. At a department store.
4. How much will the man pay if he rents the room for two weeks?

A. $50. B. $100. C. $160.
5. What’s the woman’s opinion about the man?

A. He can pass the exam.

B. He should use a month to prepare for the exam.

C. He will fail the exam.
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6. What do the two speakers have in common?
A. They take the same maths course.
B. They went on a camping trip together.
C. They both hate desert.
7. What was the woman doing on Friday?
A. Packing for her vacation.
B. Going on a field trip.
C. Preparing for the maths exam.
8. What did the man think of Death Valley?
A. Too far away to visit, B. Too cold at night. C. Too hot for camping.
WrsE 7 BBl M 9 % 11 M8,
9. What is the woman planning to do?
A. To move to a warmer place.
B. To study at a different university.
C. To start a new programme at state College.
A
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10. How long has the woman been studying at State College?
A. Since mid-spring. B. Since last summer.
11. What can we learn from the man’s words?
A. West University is not that famous.
B. The woman will not get a recommendation from her professors.

C. The woman will surely be accepted by West University.,
WP2h 8 Bebt b, I 25565 12 & 14 31,

12. Which of the following positions is the woman interested in?
A. Sales manager. B. Advertising manager.
13. How long has the woman been in the small company?
A. Eight years. B. Nine years.
14. Why does the woman want to come to the new company?
A. To go to different places for holidays.
B. To get chances of her future development.
C. To meet more new friends on her trip.
Wi 9 Bedtrt, I 5 15 % 17 i,
15. What might the relationship between the girl and her parents be?
A. Good. B. Bad.
16. How old might the girl be now?
A. Fifteen. B. Seventeen.
17. Which of the following is true?
A. The girl has no pocket money.
B. The girl has much freedom.
C. The girl wants to go on holiday with her parents.
Wrsts 10 Bobkt, 2545 18 & 20 i,
18. How many cameras were lost at least in the park that week?
A. Three. B. Four.
19. How did Harry know the camera was his?
A. It was an old black one.
B. It was like the one on the ad in the paper.
C. It had the same number as his.
20. Why did the two policemen come to Harry’s house?
A. To return the camera to Harry.
B. To stop Harry from buying the cameras.

C. To wait to arrest the thief.
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yourself.
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Service to others delivers more joy to you than the joy you deliver to them. In doing good, you
free yourself from the terrible burden of self; you escape from yourself into a clean world of joy

and light. The good you dimply try to do, regardless of the outcome. is always a success inside
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C. For a year and a half.

C. General manager.

C. Ten years.

C. Hard to tell.

C. Eighteen.

C. Five.
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1. Where did this conversation most probably take place?

A. Inside a bookstore. B. By an art museum. C. By a bookstore.
2. How much does she have to pay if she stays for 5 days?

A. $6. B. $11. ' C. $30.
3. What did the man do that day?

A. He didn’t go out.

B. He played football though he was hurt.

C. He was hurt in an accident.
4. How old is Dick now?

A. 39. B. 43. C. 35
5. What does the man mean?

A. The teacher is thinner than before.

B. The teacher is fatter than before.

C. The teacher is as fat as before.
FH(HIS/NE;HNEL.55,#H 22.5%)
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6. Who did the man go on holiday with?
A. His friends. B. His parents. C. His relatives.
7. Where didn’t the man go?
A. Edinburgh. B. St. Andrews. C. Highlands.
8. What can we learn about the life they live in school?

A. Everybody lives a happy life. B. Everybody lives an easy life. C. Everybody lives a busy life.
TREE 7 Beba, 2645 0 F 11 8,

9. What’s the relationship between the two speakers?

A. They are boss and employee.
B. They are doctor and patient.
C. They are teacher and student.
10. What’s wrong with the man?
A. He had a headache.
B. He had a stomachache.

C. There was nothing wrong with him.
(1]
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11. What can we learn about the man?
A. He is honest. B. He is always telling lies. C. He is often ill.
AR, I8 12 3 14 4,

12. What’s the relationship between the two speakers?

A. They are strangers. B. They are classmates. C. They are teacher and student.
13. How many buses are there altogether?
A. 2. B: 3. C. 4.

14. How long does the woman have to wait for the bus?

A. 20 minutes. B. 30 minutes. C. 40 minutes.
EES 9 BEBORE, IS 15 2 17 .
15. How did the woman get the skirt?

A. She bought it. B. It was a gift given by her parents.
C. It was made by herself.

16. What did the woman do yesterday?
A. She went out to buy some cloth.
B. She went shopping with her mum.
C. She went out to buy some clothes.
17. What can we learn from the man’s last sentence?

A. He thinks the woman is excellent. ) B. He thinks the woman has a good judgment.

C. He thinks the woman should be a tailor.
SFEE 0 BB R (145565 18 % 20 M,

18. What is the basic training for running?

A. To run slowly at the start. B. Just to cover the miles. C. To run as long as one can.
19. What time is best for one to do running?

A. At any time of the day. B. Only in the morning. C. Before the dark.
20. What will be the result for a runner?

A. He will be bodily strong.

B. He will be able to join other sports.

C. He will get over his heart disease.
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Joy in living

Joy in living comes from having fine emotions, trusting them, giving them the freedom of a
bird in the open. Joy in living can never be assumed as a pose,or put on from the outside as a
mask. People who have this joy do not need to talk about it; they radiate it. They just live out their
joy and let it splash its sunlight and glow into other lives as naturally as bird sings.

We can never get it by working for it directly. It comes, like happiness,to those who are ai-
ming at something higher. It is a byproduct of great,simple living. The joy of living comes from
what we put into living,not from what we seek to get from it.
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1. What does the man mean?

A. Tom will leave with his mother.

B. Tom is visiting his mother.

C. Tom will be unable to come.
2. Where does the conversation probably take place?

A. In a hotel. B. In a library. C. In a laboratory.
3. What is the man going to do?

A. He wants the woman to fix his watch.

B. He will call the woman when the watch is fixed.

C. He wants the womsn to call him within a week.
4. Who might have painted the house?

A. Henry. B. The woman. C. Someone else.

5. How much money do they have between them?

A. $46. B. $56. C. $70.
EZT(H IS ME; BT L5 9,%9 22.54)
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6. Where does the conversation probably take place?

A T 3 H A A
5 Bboh ;s W 52 )5 . 4 /N

e

A. In a library.

B. In a department store.

C. In the street.
7. What’s the probable relationship between the two speakers?

A. Husband and wife. B. They are strangers. C. They are friends.
8. Where will the woman change the bus?

A. At the zoo. B. At the traffic lights. C. At the No. 9 bus stop.
R T BRI 9 E 11
9. Why is the man going to the States?

A. To visit some places of interest.

B. To visit his friends.

C. To attend a conference.
A
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10. How long will the man possibly stay in the States?

A. About one month. B. A fortnight. C. Seven days.
11. What is possibly the man?
A. A scientist. B. A news reporter. C. A tourist.
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12. What didn’t the man like about his job?

A

Working in a hotel. B. Working in summer. C. Traveling all the time.

13. Why doesn’t he want to take the new job?

A.
B.
C.

He doesn’t get a good pay.
He dislikes working in a seaside town.

He hates playing the same pieces again and again.

14. What does the woman think of the job the man was offered?

A.
WPE

Boring. B. Well-paid. C. Tough.
9 BeABE, I 5 15 & 17 8,

15. Why doesn’t the man want to go to Florida?

A.

It is too far away.

B. It is warmer than Sheffield.

C. It is colder than Sheffield.
16. Where does the man want to go for the holiday?

A. Sheffield. B. Hawaii. C. Wales or Scotland.
17. Which country are probably the two speakers from?

A. America. B. England. C. China.

L
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18. Who does the speaker talk to?

A. A friend of his. B. A group of new students. C. A group of visitors.
19. What is the total number of departments in the college?

A. Six. B. Five. C. Four.
20. Where do the teachers in the English department mainly come from?

A. England and America. B. America and Australia. C. America and Canada.

>
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The key to success
The secret of success is not so much money as a strong will. A great man is one who has a
strong will and an indomitable spirit. In othe words,if a man does not have a strong will to win
(get) the final victory,he will never succeed in his life. He is no more than a failure.
It is quite obvious that there is no difficult thing(nothing difficult)in the world. If you make
up your mind to do it,you will certainly accomplish your end. That stands to reason.
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1. What is the woman’s problem?

A. She has difficulties with her studies.

B. She feels that the project is too difficult.

C. She is not good at working with other students.
2. How much does a T-shirt cost now?

A. $21. B. $27. C. $30.
3. Where does the man probably work?

A. In a supermarket. B. In a bookstore. C.1In a library.
4. Why is the man sleepy?

A. He got up too carly this morning.

B. He stayed up late to watch TV last night.

C. He worked on his projects late last night.

o

. What are the speakers mainly talking about?
A. Renting a car. B. Going on a trip. C. Booking tickets.
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6. When does the conversation probably take place?

A. In the morning. B. In the afternoon. C. In the evening.
7. How does the man usually get to work?

A. By taxi. B. By underground. C. By bus.
8. What does the man think of his journey to work?

A. The fare is reasonable.

B. The traffic is always terrible.

C. It takes too much time and money.

i 5
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9. In what competition did the woman come first?

A. A drawing competition. B. A design competition.
C. A speech competition.
10. How old was the woman then?
A.11. B. 10. (Co7e
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11. What prize did the woman win in the competition?

A. 20 dollars. B. Some books. C. A gift certificate.
WSS 8 BRI 5 12 % 14 411,
12. Whose wedding dress do the speakers mention?

A. The woman’s.

B. The woman’s mother’s.

C. The woman’s grandmother’s.
13. What does the woman think of the diet?

A. It is healthy. B. It is effective. C. It is balanced,
14. What can be eaten in the diet?

A. Bread and butter. B. Steak and bread. C. Steak and chicken.

T8 9 BEM L, 14555 15 % 17 i,

15. What is the most probable relationship between the speakers?

A. Classmates.

B. Doctor and patient.

C. Teacher and student.
16. What is the man worried about?

A. His broken arm. B. The coming exams. C. The pain in his leg.
17. Where does the conversation probably take place?

A. In a hospital. B. In a classroom. C. In the man’s home.
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18. Where was the old man found?

A. In a hospital. B. In the street. C. In his home.
19. What did the manager think of his team?

A. Tt did very well.

B. It moved a bit slow.

C. Its style was surprising.
20. What will the weather be like later today?

A. Sunny. B. Rainy. C. Cloudy.
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Learn to be patient
When someone disagrees with you or offends you,don’t lose your temper. Why? Because it
is of no use to do so. You ought to(should)be patient and keep calm lest you should quarrel with
him. You must know that patience is not cowardice, but a virtue, 1 hope that everybody practices
it,
In addition, patience will also bring us success. When you meet with difficulties in your work,

it is no use losing heart. You must keep on fighting until(till) the final victory belongs to you.
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1. What did the woman do last Saturday?
A. She went to the police station.
B. She saw a movie.
C. She visited her partners.

2. How’s the woman going to the airport?

A. By bus. B. By car. C. By taxi.
3. Where are they most probably talking?
A. At a station. B. In a park. C.On a farm.
4. Who’s leaving?
A. The man,. B. The woman. C. Andy.
5. Why is the man saying sorry to the woman?
A. Because he lost her book. B. Because he was rude to her.
C. Because he kept her waiting.
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6. When does the conversation most probably take place?

A. On Monday. B. On Sunday. C. On Saturday.
7. Who went hiking in the country?
A. The man, B. The woman. C. Neither.

8. Which of the following did the woman NOT do?
A. She played computer games.
B. She stayed at home.
C. She cleaned the house.
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9. Who are they talking about?
A. Their boss. B. Their workmate. C. Their friend.
10. What kind of person is John Peterson?
A. He’s hard-working. B. He’s careless. C. He’s easy-going.
11. What advice does the man give to the woman?
A. Give the young man a hand. B. Report the young man to the boss.
C. Leave the young man as he is.

oy



